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(B : 1)
1. MKEEESEE
(1) Hi X3 = 4 2, 100 5,646,900 | 2,100 5,707,800 | 11,354,700
& @) BN F-EEET 2, 500 6,722,500 | 2,500 6,795,000 | 13,517,500
(3) WA F-TV) VST 1, 540 4,141,060 | 1,540 4,185, 720 8, 326, 780
X1 @ g ALE S 500, 000
/NEE (A) 6,140 | 16,510,460 | 6,140 | 16,688,520 [ 33,698,980
By | 2. HIRTESVHEBIEIE
(1) HpXRE 3, 600 9,680, 400 [ 3,600 9,784,800 | 19, 465, 200
_ /it (B) 3, 600 9,680, 400 | 3,600 9,784,800 | 19, 465, 200
s mrErEnRewE
(1) MXZESEN 2,635 7,085,515 | 2,635 7,161,930 | 14,247, 445
£ /N (C) 2, 635 7,085,515 | 2,635 7,161,930 | 14,247, 445
4 2E-EB>HEEE
wm|W HRF— 100 268, 900 100 271, 800 540, 700
2 m—& U —3(fk 150 403, 350 150 407, 700 811, 050
o (3) m=p)—fF07zn—=yy7 0 0 15 40, 770 40, 770
/hEt (D) 250 672, 250 265 720, 270 1, 392, 520
#il (A+B+C+D) | 12,625 | 33,948,625 | 12,640 | 34,355,520 | 68,804, 145
v 3 J 5 A £ 2015-20164F
JE2] =] £ A T H & &t
1 |RIAENEE *1 27.50 US$ 27.50 US$ 55.00 US$
2 |HREBESODEXRMESE *2 1.50 US$ 1.50 US$
&t 29.00 US$ 27.50 US$ 56.50 US$
3 |B—2 ) —DOKREFERH 1,296 1,296MH 2,592H
*1 013F4ARBMEBZLTEEIFILT DIEEEZ R (2016-1TFEEET)
*2 2014510 ARIEBEL T MEEZRTE (201557818 & Y EH)
BENMEEEIL. V5TV FILTERLEZABRDIZRYET,
B & F 17
17 =] £ H T H & &t
1 | RKULURESEREEREFM 2,000 ~ 2,000 ~ 4,000 ~
—AHEYESE 15, 000 ~
2 |A—4 ) —BREXRSM |(BEHE1=-1130 FJLZEREY (Every Rotarian Every Year)
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(HA: H)
2014~ 1554k Wi [ 2015-16F8A G — RN A

HION) 2,710 | _EHAICA) 2,689 | ., .

THI(A) 2,720 | FHION) Zﬂ8m$§%@®ﬂ)
Al AT R HL Al B T &

1. BT AR Al 24,673,106 25,499,426 826,320
2. i1 DX B 4 11,403,000 11,354,700 -48,300
I =19 2,100 5,691,000 2,100 5,646,900 -44,100
T 2,100 5,712,000 2,100 5,707,800 -4,200
3. HNF—EBTE 13,575,000 13,517,500 -57,500
A =3 2,500 6,775,000 2,500 6,722,500 -52,500
T 2,500 6,800,000 2,500 6,795,000 -5,000
o BT TV EE TR 8,362,200 8,326,780 -35,420
1 1,540 4,173,400 1,540 4,141,060 -32,340
TH 1,540 4,188,800 1,540 4,185,720 -3,080
w |5.GSEREN 4 0 0 0
6. IR ASE S 500,000 500,000 0
1+2+3+4+5+63+ 58,513,306 59,198,406 685,100
ARG E E 9,950,000 10,870,350 920,350
MZESE 600,000 600,000 0
TN F— it =t 500,000 500,000 0
WX F—2HHE I —F 850,000 850,000 0
AETLIMHERI T — 5 1,050,000 1,050,000 0
| HXHHE - i E 4,300,000 4,300,000 0
NS A= MR 0 0 0
X —7T 7R E 0 0 0
a—&—7 JNERE 0 0 0
A H—T I NERE 0 0 0
bR = P = EEP T 1,000,000 1,200,000 200,000
| BUE R A 150,000 200,000 50,000
Y —rn—Z)— I 400,000 400,000 0
I3 G —F i 100,000 100,000 0
RIFEH35e 2% A Al 0 0 0
X E B2 B S 0 100,000 100,000
i1 X B0 R Y i 0 0 0
» | TOMEEERERRR 600,000 600,000 0
faE T B A 100,000 100,000 0
EERSHEL B SR 100,000 100,000 0
HRF— ) 3=— 0 300,000 300,000
EEn—#U— B AT ELRE AT 0 270,350 270,350
R 200,000 200,000 0
o T Ee 0 0 0
B A —HEE 13,575,000 13,517,500 -57,500
CHNF— L I EHFT 8,362,200 8,326,780 -35,420
DY & 1,953,000 984,350 -968,650
B AR BE ikt 24,673,106 25,499,426 826,320
A+B+C+D+E& & 58,513,306 59,198,406 685,100




EH R —21—

FTOH X M X TR ARG B 4 ) E AR

2015—20164F- £

(Bf7: M)
201415 54 RaBHE 2015-16 AR —RRAEE
EHICN) 2,710 EHICN) 2,689| FiHEEEFERE
THION) 2,720 THACA) 2,718 (B-A)
Bl A 7 H LR i B ¥ &
H/% -3 2,635 7,140,850 2,635 7,085,515 -55,335
» LT 2,635 7,167,200 2,635 7,161,930 -5,270
wo| 3 14,308,050 14,247,445 -60,605
1 gﬁ ZE= 600,000
L= = iy 400,000|1. /B HES ZE S 50,000 -350,000
7:nm~//7§f%\é:\ 200,000
Hh —& ) —3 ZES 100,000 100,000
oMpEEATES 400,000
SRR -REIERES 500,000 100,000
U ANEARA—TVEES 400,000
X st A—vEES 300,000 4 I TEHATA A—DFEE S 400,000 100,000
X HLEOREER 100,000
5.7xu0— v S EEBA 200,000 0
% 4.2 B TR RSPIERB S 400,000
Z&
6.7V NEBS 1,600,000
5.%&: a2/ NEES 1,000,000 MEREMAZES 400,000 0
- HoBEtFEES 400,000| fEFAEFER(E HLOR) 600,000 100,000
EREEEEES 600,000| EEEEFZES 600,000 0
H
w6 FEVERMEEE 8,300,000(7. H M EEHLFE 8,300,000 0
A B— 7%%5@ 2,200,000| A H— 7%%&:: 2,200,000 0
n—4—7 7 EBS 1,700,000 v—%—7 2V EB S 1,700,000 0
n—2)—F/DERHE R S 2,900,000 w—HV—EFDELZT B 2,900,000 0
# | RYLAZES 1,500,000] RYLAZES 1,500,000 0
D T.e—X)—MHEE S 1,600,000(8.z—#) —HFEZE S 1,600,000 0
&
8. KLt e R E S 600,000(9. K L& FREH S 600,000 0
(j? VA = A
10.2REES 30,000 30,000
1LHXHEEE S 800,000
| P HXHER B 500,000 500,000
wl 9 RLITIZ2 100,000| RLIMEEZ B2 300,000 200,000
(B3I —H2Y)
3 12X KRREBR 50,000 50,000
ZEHIRE TR & 908,050 | Z=(LIEE Pl & 17,445 890,605
= 14,308,050 14,247,445 -60,605




